In The Name of God, The Merciful, The Compassionate
Signals & Systems
Department of Computer Engineering
Sharif University of Technology
Fall 2012 - CE 40-242
Quiz #3

6" October 2012

488510 1 le;
@Wb o)LQ...‘b :g;o‘ﬁ';l':’ ‘nlj 9 ‘nlj

oSl el pg oles 5l s (ot e )

x(t)— —y(1)

olo |y h(t) (oo A3 2 G“l-‘ @@

¢ col e pitasw cpl LT (b

¢ ol ool e ol LT (C

sl cess a1y waslb x(t) = et s(t — 1) 699,945 (585 piamm 79> (d

¢ Sz ¢ 2L X(t) = U(L) (695,558 pinms 59,5 (€

a 20(t+1) = 4fu(t+2) = U(t)]
Linearity: o(t + 1) = 2[u(t + 2) — u(t)]
Time Invariant: §(¢) = h(t) = 2[u(t + 1 — u(t — 1)]
b h(t) #t < 0= Non — Causal
(e f_xx |h(t)|dt = 4 < oo = Stable
d z(t) = et’S(t—1) = ed(t — 1)
x(t) x h(t) = [ed(t — 1)] * h(t) = e[0(t — 1) x h(t)] = eh(t — 1) = 2e[u(t) — u(t — 2)]
0, t<—1
e By doing convolution: y(t) =< 2t+2. —1<t<1
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